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SHM3EIAL

RELAZTRR/KE ERKEABRGERBEE

KB 9:00

KERBRER EFRERHFKE BKHF EK )
H Xix Km | KE|A E| pH [FILAY EE AFE | ELtY % vy | ® &
= BEM|1F Y HAr |(B&X
G G E mg/l | mg/l | mg/l | mg/l | mg/l | mg/l AE)
1 & 29.0 23.2 9.0 7.86 47.4 60. 1 114 3.9 0.42 <0.02 16
2 & 28.0 22.0 1.1 7.90 15
3 & 24.0 20.3 4.5 7.82 129
4 & 23.2 19.5 35.7 7.74 57
5 =) 22.0 19.3 53.0 7.78 417
6 & 24.5 20.0 210.9 7.84 271
1 i 22.0 20.4 114.0 7.85 130
8 i 24.2 19.3 47.4 7.86 51
9 il 20.4 18.5 25.5 7.81 28
10 i 21.0 19.8 102.9 7.78 109
1 £ 26.0 20.2 33.0 7.82 47
12 g 26.0 19.7 22.0 7.80 29
13 i 26.0 19.2 18.8 7.86 23
14 g 25.0 19.5 15.2 7.84 19
15 g 24.5 19.7 12.7 7.82 45.9 59.8 123 3.8 0.59 <0.02 21
16 i 26.2 20.2 12.0 7.86 21
17 i 25.2 20.0 8.0 7.88 14
18 5] 25.0 20. 4 12.0 7.82 22
19 g 24.0 19.5 43.0 7.68 128
20 i 25.0 20. 6 30.0 7.84 50
21 i 24.0 20. 6 25.4 7.91 28
22 5] 23.7 20. 1 13.1 7.86 19
23 i 25.8 20.0 9.4 7.84 29
24 i 24.5 22.0 1.5 7.87 17
25 i 26.0 20. 6 1.5 7.91 13
26 g 22.5 20.3 4.8 7.86 14
27 i 20.5 19.0 1.5 7.87 11
28 i 22.2 19.5 5.6 7.93 14
29 i 24.1 20.0 5.1 7.95 34
30 g 24.2 20.5 5.6 8.05 9
31
Ty 24.5 | 20.1 31.8 7.85 | 46.7 60.0 119 3.9 | 0.51 <0.02
1= 29.0 | 23.2| 210.9 8.05| 47.4| 60.1 123 3.9 0.59 <0.02
=IE 20.4 18.5 4.8 7.68 | 45.9 59.8 114 3.8 0.42 <0.02
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KEBHARBRKER (BER%KE Bkt GRK) )
H Xz [ER | KE | & E| pH [FLAY EE EE | B ES Y | " &
= BEW | 1 * > Hy
°C °C E mg/ | mg/ | mg/ | mg/ | mg/ | mg/ |

1 £ 29.0 23.3 2.7 7.56 45.2 58.5 114 3.7 0.09 <0.02
2 g 28.0 22.7 2.4 7.64

3 g 24.0 21.7 1.1 7.56

4 g 23.2 20.0 2.5 7.50

5 g 22.0 20.0 1.9 7.18

6 g 24.5 20.1 2.2 7.28

7 i 22.0 20.1 1.7 7.46

8 i 24.2 19.6 1.8 7.60

9 Gl 20.4 19.4 2.7 7.63

10 i 27.0 19.5 2.0 7.28

11 g 26.0 20.0 1.7 7.23

12 g 26.0 20.5 1.8 7.34

13 i 26.0 20.2 1.2 7.42

14 g 25.0 19.5 2.4 7.45

15 8 24.5 20. 1 2.2 7.46 42.9 57.7 132 3.5 0.28 <0.02
16 i 26.2 20.2 1.6 7.50

17 i 25.2 20.4 1.4 7.52

18 Gl 25.0 20.8 1.8 7.58

19 g 24.0 20.3 2.8 7.42

20 i 25.0 19.8 2.1 7.51

21 i 24.0 20.0 1.8 7.47

22 Gl 23.7 19.9 2.2 7.37

23 i 25.8 19.8 1.6 7.49

24 i 24.5 20.5 2.2 7.47

25 i 26.0 20.4 2.2 7.53

26 g 22.5 20.7 1.8 7.61

27 i 20.5 19.5 2.0 7.53

28 i 22.2 19.2 2.5 7.51

29 i 241 19.5 1.9 7.63

30 g 24.2 20.5 1.7 7.49
1y 24.5 | 20.3 2.0 7.47 441 58. 1 123 3.6 | 0.19 <0.02
== 29.0 | 23.3 2.8 7.64 | 45.2 58.5 132 3.7 0.28 <0.02
=IE 20.4 19.2 1.1 7.18 | 42.9 57.7 114 3.5 0.09 <0.02




